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£ 0 700,000 A700,000
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BB IPRHL AL 31 31) 3,256,963 3,256,963 0
= 90,000 90,000 0
& 500,000 500,000 0
< 190,000 190,000 0
= 2,476,963 2,476,963 0
gAaES 20,835,451 19,357,600 1,477,851
= 12,615,000 12,337,350 277,650
Il 5,713,168 4,905,508 807,660
= 487,500 255,800 231,700
[ 2,019,783 1,858,942 160,841
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st 767,967 1,900,000 A1,132,033|  £59.58%
A - EAD 4,237,696 4,237,696 0 0.00%
HHBEX 4,237,696 4,237,696 0 0.00%
=400l 4,237,696 4,237,696 0 0.00%
2] s 4,237,696 4,237,696 0 0.00%
=R
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Z 1,99.000 ,996,000 0
| 310, 100 312, 100 A2,000
2 3.464.7% 329,188 135,544
22 720,102 721,468 ~1,366|  £0.19%
o] 310, 100 312,100 £2,000
= 410,002 409,368 634
EA F 720,102 721,468 £1,366| A0 19%
| 310, 100 312, 100 A2,000
2 410,002 409,368 634
2 A 720,102 721,468 A1,366|  £0.19%
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2 410,002 409,368 634
KU A 2,952,500 809,700 142,800 5.08%
AN 2,952,500 809,700 142,800 5.08%
TANY HEEE(S SEE 2,952,500 809,700 142,800 5.08%
See 2,098,230 106,120 A7,890|  £0.37%
Z 1,99.,000 ,996,000 0
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Z 1,990 ,996,000 0
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s 0 700,000 A700,000
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W2 E S (2H & A D) 0 2,802,800 £2,802,800( A 100.00%
RENE(SLNLALSES ) 0 2,802,800 £2,802,800{ A 100.00%
HRES (Mo 4+ TAYA) 4,875 4,875 0 0.00%
W22 NS (44 E AN S5 3) 4,875 4,875 0 0.00%
oIt 556,474 549,474 7,000 1.27%
] 131,871 137,931 £6,060
= 424,603 411,543 13,060
I 556,474 549,474 7,000 1.27%
] 131,871 137,931 £6,060
2 424,603 411,543 13,060
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= 2,949 6.889 6.060
olzi2 el (+ A SLEIH) 143,020 143,020 0 0.00%
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] 1,800 1,800 0
BEE A (M5 AR L) 293,595 293,595 0 0.00%
QB (M EANY S ) 267,781 267,781 0 0.00%
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ERMEIEEEBIEEEER) 10,000 5,000 5,000|  100.00%
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